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1. A 1850 kg luxury sedan stopped at a traffic light is struck from the rear by a compact car w1th amass of 975 kg. The two

cars become entangled as a result of the collision. If the compact car was moving at a velocity of 22.0 m/s to the north
before the collision, what is the velocity of the entangled mass after the collision?
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2. A 1.0 kg ball traveling at 6.0 m/s’collides Iu,': -on wnth a 2.0 kg ball moving in the opposite direction at a speed of 12 m/s.
The 1.0 kg ball rebounds at a speed of 14 m/s after the collision. Find the velocity of the second ball. ( Am/S
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3. Two dynamics carts at rest are pushed apart by a compressed spring. The 1.5 kg cart moves off with a speed 0of 0.27
m/s. What is the velocity of U 4.5 kg cart after the spring is sprung? Cl Cj Y B )O
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4. A 0.105 kg hockey puck moving at t(l?m;’s is caught by a 75 kg goalie at rest. With what speed does the goalie slide on the
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Elastic and Inelastic Collisions
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(a) Elastic collision (b) Inelastic collision (c) Completely inelastic collision
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Where does some of the mechanical energy go in an inelastic collision?
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1. Find the final velocity of the two train cars after they latch together. Car 1 has a mass of 65,000 kg and
moves at a velocity of 0.80 m/s. Car 2, with a mass of 92,000 kg, has a velocity of 1.3 m/s.
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2. Is this collision elastic uKml astic? lustlfy your answer.
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